PARTS LIST
ITEM|{ QTY | PART NO. PART DESCRIPTION LENGTH UNIT WT. NET WT.
1 2 X-MRH MODULAR RAMP HINGE 10.61 21.22
2 1 X-MRAMP5 | 5'MODULAR PLATFORM RAMP WELDMENT 132.59 132.59
3 3 G58134 5/8" x 1-3/4" HDG BOLT 13/4in 0.27 0.81
4 3 G58LW 5/8" HDG LOCKWASHER 5/32in 0.03 0.08
5 3 G58NUT 5/8" HDG HEAVY 2H HEX NUT 5/8 in 0.13 0.39
6 4 CP181 COTTER PIN 0.00 0.02
7 2 X-MRHP MODULAR RAMP HINGE PIN 4.07 8.14
TOTAL WT. # 163.24

A
\
|

—=7
\

-

[ I\ __

: l
LR,
I
|| ~__ __—
/Ti#FFT\ DETAIL A
= ==J|;
TOLERANCE NOTES DESCRIPTION N fors:
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: WORK EQUIPMENT PLATFORM % 1 Engineering Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (£ 0.0307) RAMP OPTION Support Team:  pos Angeles, CA
DRILLED AND GAS GUT HOLES (#0.030") - NO CONING OF HOLES . 1-888-753-7446  Flymouth,
LASER CUT EDGES AND HOLES (% 0.070") - NO CONING OF HOLES A valmont WP covNY Dallas, TX
BENDS ARE # 1/2 DEGREE
ALL OTHER MACHINING (£ 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. N
ALL OTHER ASSEMBLY (# 0.060") CEK 2/2/2016 MRAMP-5 o3
:"Rgmam’mﬁ INTHIS DRAWING LMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. m %
v w
NDUSTRIES AND GONSIDERED ATRADE SECRET. o | 81|01 CUSTOMER BMC 3/13/2016 MRAMP-5




PARTS LIST
ITEM[ QTY | PART NO. PART DESCRIPTION LENGTH UNIT WT. NET WT.
2 2 X-MRH MODULAR RAMP HINGE 10.61 21.22
3 1 X-MRAMPS 5' MODULAR PLATFORM RAMP WELDMENT 132.59 132.59
4 2 G58134 5/8" x 1-3/4" HDG BOLT 13/4in 0.27 0.54
5 2 G58LW 5/8" HDG LOCKWASHER 5/32in 0.03 0.05
6 2 G58NUT 5/8" HDG HEAVY 2H HEX NUT 5/8 in 0.13 0.26
7 4 CP181 COTTER PIN 0.00 0.02
8 2 X-MRHP MODULAR RAMP HINGE PIN 4.07 8.14
TOTAL WT. # 162.36

DETAIL A

TOLERANCE NOTES DESCRIPTION 7'&2‘;7::2:':: NY
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: WORK EQUIPMENT PLATFORM % 1 Engineering Atlanta, GA
SAWED, SHEARED AND GAS CUT EDGES (£ 0.0307) RAMP OPTION Support Team:  pos Angeles, CA
DRILLED AND GAS GUT HOLES (#0.030") - NO CONING OF HOLES . 1-888-753-7446  Flymouth,
LASER CUT EDGES AND HOLES (£ 0.070%) - NO CONING OF HOLES A valmont Y CONINY Dallas, TX
BENDS ARE # 1/2 DEGREE
ALL OTHER MACHINING (_-taoao'? CPD NO. DRAWN BY ENG. APPROVAL PART NO. INY
ALL OTHER ASSEMBLY (£ 0.060") CEK 2/2/2016 MRAMP-5 oF
:"Rgmam’mﬁ: INTHIS DRAWING LMONT CLASS| SuB | DRAWING USAGE CHECKED BY DWG. NO. m %

v w
INDUSTRIES AND CONSIDERED A TRADE SEGRET. ANY oF 81 | 01 CUSTOMER BMC 3/13/2016 MRAMP-5




351/2"

P T P
! N
i i
Hr———— P
I ]
I 1

AT R . )

| I (N (NN}

R I I I O e A I R U R A R
RN NN N N NN NN AN NN RN NN NN
O e e
A
NN RN NN NN NN
R R R N RN RN N RN NN RN R RN
NN NN AN RN NN NN
L B B I B R B I I A R N R N YN
RN NN NN RN NN NN NN
L I B I I B A B R B R R Y R

™ 351/2" =

[*————————— 52" TO 58.75"

|

: | :
S| | N
SR | E——— -1
|| T
| I
b ———dt—41
e

ll 19.5" RECOMMENDED (20°)
VN

Lo LD, Ll

26" MAXIMUM (30°)

TOLERANCE NOTES DESCRIPTION 7'&:‘;7::2:‘:: NY

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: WORK EQUIPMENT PLATFORM % 1 Engineering Atlanta, GA

SAWED, SHEARED AND GAS CUT EDGES (£ 0.0307) RAMP OPTION Support Team:  Los Angeles, CA

DRILLED AND GAS GUT HOLES (#0.030") - NO CONING OF HOLES . 1-888-753-7446  Flymouth,

LASER CUT EDGES AND HOLES (£ 0.070") - NO CONING OF HOLES A valmont 4 COVNY Dallas, TX

BENDS ARE # 1/2 DEGREE

ALL OTHER MACHINING #0‘030'7 CPD NO. DRAWN BY ENG. APPROVAL PART NO. w

ALL OTHER ASSEMBLY (£ 0.060") CEK  2/2/2016 MRAMP-5 o3

:"Rgmﬂm’mﬁ: INTHIS DRAWING VALMONT CLASS| SUB | DRAWING USAGE CHECKED BY DWG. NO. m %
w

NDUSTRIES AND GONSIDERED ATRADE SECRET. o | 81|01 CUSTOMER BMC 3/13/2016 MRAMP-5




